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Section A

Questions 1 to 2 carry 1 mark each.

Questions 3 to 5 cairy 2 marks each. _

For each question, four options are given. One of them is the correct answer. Make
your choice and write its number (1, 2, 3 or 4) in the brackets provided. (8 marks)

1.  Look at the model below. What is the missing number?

8617
2 4520

v

A

1) 4090
2) 4097
3) 4117
4) 4197

2. Which of the following has the same value as 9 x 7?

1) 97
2) 9+7

3) 63-7
4) 70-7
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What is 8 tens less than 5 thousands?

1) 4200
2) 4920
3) 4980
4) 5020

. An ant has 6 legs. How many legs do 9 ants have?

=

15
2) 45
3) 54
4) 69

Use the digits 4,2, 5 and 1 and form the largest 4-digit number. Subtract
the number from 8000. What Is the answer?

1) 579
2) 581
3) 621
4) 1421
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Section B

Questions 6 to 7 carry 1 mark each.
Questions 8 to10 carry 2 marks each. ,
Show your working clearly and write your answers in the boxes provided. For
questions which require units, give your answers in the units stated.
(8 marks)

6. What is the difference:between 518 and 50077

7. Quiincy spent $56 on books at a bookshop. Each book cost $7. How
many books did he buy?

8. I have a nhumber card. The number is between 40 and 80. It can be
found in both the muttiplication tables of 6 and 7. What is the number?
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9. Lincoln had 7 bags of marbles.. There were 8 marbles in each bag. He
-gave 35 marbles to his friends. How many marbles had he left?

10. There are two numbers. The greater number is 4078. The difference

between the two numbers is 1639, What is the smaller
number?
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Section C

For questions 11 to 13, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets | ]

at the end of each question or part-question.
(9 marks)

11. Mrs Li baked 4295 cupcakes in a day. Mrs:Su baked 309 fewer
cupcakes than Mrs Li.  How many cupcakes did Mrs Li and Mrs Su
bake altogether?

Ans: [3]
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12. A television and a printer dost"$5167. “A-television cost $3799. ‘How
much more did the television cost than the printer?

Ans: 131
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13. Sam and Titus had the same number of stamps at first. Sam gave 124
stamps to Titus. In the end, Titus had 1852 stamps. How many stamps
did Sam have intheend?

Ans: - [3]

End of Paper
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Ql Q2 Q3 Q4 Q5
2 4 2 3 1
6)4489 7)8 8)42  9)21  10)2439

11)4259 — 309 = 3986
3986 + 4295 = 8281
12)3799 - 1368 = 2431

13)1852 - 124 = 1728
1728 - 124 = 1604






